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1. Scattering of w-particles by a thin gold 6. Match List-1 with List-Il and select the

foil suggests the presence of correct answer using the code given

(a) electron in an atom below the Lists :

(b) proton in an atom
List-1 List-1I

c) positively charged nucl

fc) p y g ucleus at the (Compound) {Use)

centre of an atom
2. The elements of which of the following B. Citric acid 2. Food

pairs are isobars? preservative

(a) }H and fH C. Magnesium 3. Antacid
hydroxide

(b) }H and 12!-1
D. Acetic acid 4, Pickle

() '2C and '3C

(d) 40ar and 40Ca Code :

3. Which one of the following chemical
reactions is not feasible?

fa} Fe+CuS0, — FeSO,4 + Cu
(b) Zn+CuSO,4 — ZnS0, + Cu ) A~ B C D
I(C) Cu+ PbC].Q - CU.C]Q + Pb 1 3

@@ A B C D
1 2

.
L

%)
'S

(d) Mg+CuSO, —MgSO0, + Cu ) A B C D

4. A solution having pH equal to zero is

known as (@ A B c D

(@) highly alkaline solution 4

b
L
[

{b) highly acidic solution

fc) weakly acidic solution
7. The property of the sound waves that

(d) neutral solution determines the pitch of the sound is its

5. Which one of the following acids is

produced in human stomach? (a) frequency
(a) Formic acid () amplitude
{b) Sulphuric acid

() Nitric acid () wavelength

{d) Hydrochloric acid {d) intensity

PLKI-S-GNL/58A 3 ' [P.T.O.
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8. Frafafga 4 @ #9-w & M X-froi &1 =

27
(a) 3 g &1 4 fadfia & s 2
(b) 3 geaia A A fadfa = o #)

() 7@ (") ¥ Fh BE ey AE
(3=) B 2

(d) TFa vEm 6 g § T qed Tga
T (BRT) el B

9, TF UHAH <Uu g1 <1 e Wiafm ¥ am 1,

frafafias 34 @ ¥R-0 o o 74 27

(a) TWHE FAFER F& Fa B N TEW-IG F
i B

(b) T Ndfa w0 ¥ Fewtm (v
o) A R

(c) 4% i vl g R

(d) 7@ 3m & 98 H MW T d g W
T ¢ fef oI o ¥ we A
R

10. f¥eht wiexfl () & Q) auaa S0 @ S

g

(a) TH-ZA F THAR

(b) TH-GA % T

(c) TH-FW F A 60° F HI0 a7 §Y
(d) TH-ZE F Y 45° F FV W T

11, 7R @y A ywm R} 7 (F) 3x108 m/s

%,a@mmﬁwaﬁﬁqﬁ%%,ﬁ
v i nfd T af?

fa) 2x10% m/s
(b) 2x10® m/s
) 3x10° m/s

{d} 3x108 m/s
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{a) &M am

{b) ¥ T

(c) HEH/FNS (3o HRo)

(d) WU/ SgErERR (Fo Ho)
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{a) N-m fb) N/m
¢ N-m? (d N/m?

Praferfed # @ F-m1 ©& weEd (dHme i)
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(a) & (Ffew)
(b) TR
(c) =
(d) wrefiale (wefio)
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(b) Femie (W)

() FR

(d) T (G )

eyl § offm W % A wendt @ wd
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8. Which one of the following is not a
property of the X-rays?

{a) They are deflected by electric fields.

{b) They are not deflected by magnetic
fields.

{c) They have high penetration length
in matter.

(d) Their wavelength is much smaller
than that of visible light.

9. Which one of the following is not true
about the image formed by a plane
mirror?

{a) Itis of the same size as the subject,

{b) 1t is laterally inverted.

(c) 1t is real image.

(d) 1t is formed as far behind the

mirror as the object is in front.

10. In a periscope, the two plane mirrors

are kept

fa) parallel to each other

(b) perpendicular to each other

{c) atan angle of 60° with each other

{d) atan angle of 45° with each other

11. If the speed of light in air is 3x 10® m s,

then the speed of light in a medium of

refractive index % is
(@) 2x10% m/s
(b) 2x 108 m/s
() 3x10% m/s

{d 3x10% m/s

PLKI-S-GNL/S8A
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12, Which one of the following types of
radiation has the shortest wavelength?

fa) Radio waves
(b} Visible light
(¢ Infrared (IR)
(d} Ultraviolet (UV)

13. The unit of the force constant k of a

spring is
{a) N-m (b} N/m
) N-m?2 (d) N/m?

14. Which one of the following is not an
epidemic disease?
{a) Cholera
(b) Malaria
fc) Smallpox
(d) Elephantiasis

15. Which one of the following animals has a
three-chambered heart?

(a) Scolioden

{b) Salamander
c) Pigeon

(d) Human being

16. Which one of the following is the correct
sequence of events
reproduction in plants?
(a) Seedling, formation of embryo,
pollination, fertilization, division of
zygote

(b) Formation of embryo, seedling,
pollination, fertilization, division of
zygote

(¢} Pollination, fertilization, division of
zygote, formation of embryo,
seedling

{d) Seedling, formation of embryo,
division of zygote, pollination,
fertilization

during sexual
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17. 9@ T [EAd, fmd @ @ w9, A 3 21. G-l # g1 ¥ Wy gafae i v

b Wi St @ (48 W w0 w ), @R W it & R Ry T g T WM W IR
urh gt (k) @ s ) Y e I :
sfeata % S g 27
(a) AT qefi-1 11
. () (77)
(b) iFdINA
. A. T g (=fifm 1. NaHCO,
fc) T TEATHRS )
(d) FEA BHTEE B. GRF AR (3 2. Na,CO,-10H,0
His)
18. #ficia shbwelt % fo ‘o gm (o C. AT A (Ffm 3. Ca(OH),
Fedt)’ Fferfaa & 3 R wea &7 Hren)
() TR D. Mg I (W 4. CaOCl,
) Te Ao o )
fc) To Flo o He
(d) TR TR @@ A B C D
4 1 2 3
19. URH-83 ¥ ¥W & Wy fem 9 w@en ) A B C D
e Fefafea 3 @ $F-w 27 42 1 3
() A B C D
) TR 3 2 1 4
w d A B C D
fc) e 3 1 2 4
(d) T

22, fFed o & fon #im oo % @ ) &

20, TR i) % 2 A, S il W= T PR T SE B el B wen frd fd
i vF wya we b, R Wy o g 7 #
(a) e (ee) @ 2
(b) WEUN FAE (b) 4
(c) HH ) 5
(d) Vet d 6
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17. When air is blown from mouth into a 21, Match List-I with List-II and select the
test tube containing limewater, the correct answer using the code given
limewater turns milky. This is due to below the Lists :
the presence of

{a} water vapour List-I List-iI
(Namne) (Formula)
(b} oxygen
o A. Bleaching powder 1. NaHCO,
¢} carbon dioxide
B. Baki d 2. Na,CO4-10H,0
(d) carbon monoxide aking soca a2~Y3 2
C. Washing soda 3. Ca(OH),
18. Which one of the following is the ‘energy D. Slaked lime 4, CaOCl,
currency’ for cellular processes?
a) Glucose
fa) Code :
(b) ATP
(c) ADP @A B C D

(d) Pyruvic acid
) A B C D

s
b
—
W

19, Which one of the f{ollowing is the
first enzyme to mix with food in the

digestive tract? fc) A B C D
. 3 2 1 4

{a) Trypsin
(b) Cellulose fd}l A B C D
3 1 2 4

{c) Pepsin

{d} Amylase
22. The number of water molecules
associated with copper sulphate

20. Mahatma Gandhi's Dandi March, a great _
molecule to form crystals is

event in Indian freedom struggle, was
associated with

(a) 2
fa) iron
(b} 4
{b) sodium chloride
{c) sulphur () S
{d} aluminium {d) ©
PLKI-S-GNL/S8A 7 | P.T.O.
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23. 9§ 3l @1 A gl R W I8 wh TR 27. A TR ¥ @ WEE % TW OB AW T

Fel B T ¥ TW gRi d 2, with (R aR) 0w wh g kil 3 @
(o) 9w iEiEw B e fiew IR
SiTaETES & S 3 (@) T (&), et e, gt
(b) T U THAF FE4 eRAIHERE F GY
afufra = =1, few FERe a7 () %, T, e,
3 (c) T, e, T,
{cj TR AR & q AfRE F@ =i, (d) A, <, AN, TR
et wewrEe #i W& Wa (i) A
: 28. W § FefE # A dRd smad
(d) T B RN HFEES F 9y R (TErTEA) ufy, gm (SIR) & w & T v
e 9, faeat Argde st R W 87
Hfe
24, AR & yorel (R /firen) =1 aoam Feam (@) g ()
A xamC ¥ y?, A % d= od wau } (b) Hu (frped)
(a) x=273-y () T (fm)
(b) x=273+y (d) ¥=mm (3Nad)
fc] x=173+y
(d) x=173-y 20, Frfafes & @ fom =i s
freft vad A WY fovm ¢ (gfe) # o e o M
25. Ll UFdl p . )
afirsres Y o e 27 fa) et ST (Hesht Qe
{@ ohm (b) WTERFIEEA
(b) ohm/cm fc) wEEEM
(c) ohm-cm (d) Staseft s (Terenfewr Weagem)
(d) ohm-cm?
. + 30. 7 ¥ 5w amie 3 Rl 6 L
26. frp-gedm a0, W IR @R (R yfam (mﬁm)ﬁwmﬁ
FRf) ¥ R e € o 8, § ‘
(a) e fafm (a) TS SR
o) TR R ) Tad 3
(c) e w (c) T g
(dj T TF (d) i fifam
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23. Silver articles become black after some 27. Which one of the following is the correct
time when exposed to air because sequence of organs that occur in the

a) silver gets oxidized to silver oxide path of urine flow in human body?

(b} silver reacts with moist carbon a) Kidney, ureter, urinary bladder,

dioxide in the air to form silver urethra.

carbonate (b} Kidney, urinary bladder, ureter,
fc) silver reacts with sulphur in the air urethra

to form a coating of silver sulphide {c) Kidney, ureter, urethra, urinary
{d}) silver reacts with nitrogen oxides in bladder

the air to form silver nitrate {d) Urinary bladder, kidney, urethra,

ureter
24. If x is the temperature of a system in

Kelvin and y is the temperature of the 28. Which of the following endocrine glands
system in °C, then the correct relation is not found in pair in humans?

between them is
fa) Adrenal

=273-

(a) x Y (b) Pituitary

b} x =273

b x Ty ¢} Testis
=173

e x vy (d) Ovary

@ x=173-y

29. Which one of the following cell organelles
25. The resistivity p of a material may be contains DNA?

expressed in units of
P (a) Golgi apparatus

hm
fa) o {b) Mitochondrion
b hm/em
(b} ohm/c (c) Lysosome
hm-cm
(c) ohm-c (d) Endoplasmic reticulum

{d} ohm-cm?2

30. Who among the following scientists

26. The electromagnetic waves, which are introduced the concept of immunization
used for satellite communication, are to the medical world?
{a} infrared radiations {a) Edward Jenner
{b} ultraviolet radiations (b} Robert Koch
(cj radio waves {c/) Robert Hooke
(d) visible lights {(d) Carl Linnaeus
PLKI-S-GNL/58A 9 [ P.T.O.
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31. Ffofas 4 @ o =i aft@m &

31 fewr, 1929 % A Tl w@uw & gon
F 7 7

fa) SEHLER
(b) FAFA
(c) R

(d) TG

32. frfafian & @ form srfufrm & aga faumnieat

i wfgenadt % forg e omia A, ) fafim
werl & e Hid % ameed & argew i

(a) Y@ TR sfufm, 1858
(b) g aeg wfufEm, 1909
(c) va TR AfufEm, 1919

(d) W@ §ER A, 1935

33. T4 1931 § ¥f4 § gq sflget vl efem &

A9 weR (e e foine womw <fed
F5@) g A=foRen 4 4 F9-d o @
T o7

(a) TEMTEF T HafUeR

(b) g % T sem fafaa-a

(c) IeqHEEH % folv TRfd die

(d) ¥Td B} T Yo (T ) Y

PLKI-S-GNL/58A

34, 7 ¥ FF 3o TR i aftew o &

HEOH § B TF 7
(a) s &M
(b) Y T
(c) TN MR

(d) afFm =3 TR

35. T ¥ fom goom 3 gEl-v-fegemh 6 v

(FFFa) ® dred ol fmm A d gl w0
Hherdl giEE H1?

(@) Togarm

(b) e
jc) R faash

(d) T fam ger

36. T A Ty WG A/FHE A WA W AHA

w0 & forg ey 54 ww i A7
(@) TFGH

(b) R T

(c) Fgg

(d}) Fagn &0
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31. On 31st December, 1929, in which one
of the following Congress Sessions was
proclamation of Purna Swaraj made?
(a] Ahmedabad
{b) Calcutta

(c) Lahore

{d) Lucknow

32. Which one of the following Acts reserved
seats for women in Legislatures in
accordance with the allocation of seats
for different communities?
fa) The Government of India Act, 1858
(b) The Indian Councils Act, 1909

fc¢) The Government of India Act, 1919

(d) The Government of India Act, 1935

33. Which one among the following was
demanded by the All India Depressed
Classes Leaders’ Conference at Bombay
in 19317

fa) Universal adult suffrage

{b) Separate electorates for
untouchables

{c) Reserved seats for the minorities

(d) A unitary State in India

PLKI-S-GNL/S58A

34. Who among the following was one of the
founders of the Indian Society of
Oriental Art?

fa) Rabindranath Tagore
(b) Abanindranath Tagore
(c) Dwarakanath Tagore
| {(d) Bankim Chandra Chattopadhyaya
35. Who among the following Sultans
succeeded in finally breaking and

destroying the power of Turkan-i-
Chihalgani?

(@) Ttutmish
{b} Balban
fe) Alauddin Khalji
(d) Muhammad bin Tughlugq
36. Who among the following Mongol

leaders/commanders did not cross
Indus to attack India?

{a) Chenghiz Khan
(b) Tair Bahadur
{¢) Abdullah

(d) Qutlugh Khwaja

[P.T.O.
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37. fgaiew o F ¢ @ & &7 § wde @ 4N

I e 3 3 T T W T F@ T
&

(@) firga

(b) =

fc) ¥d T ()
(d} Tem wemema (=)

38. Tl smenfe geaa: et ord =i &7

(a) ¥EEH 3R PR
(b) ST Fex

fc) -

{d) weR ard

39. WA & &7 A, Frefofas § & frm vl w=a

F T T I GER (T @2 ¥ aeda)’
&g W &7

{a) W
(b) &M A
fc] FHlZh

(d) =Y

a0. Fim vy ¥ o T & # it ) v 9

F1 gl Tl 37

(a) P o

(b) I T

fc) i (Refwifer) o
(d) il w9

PLKI-S-GNL/58A

41, T=fafas & @ FR-d T DY s o 3
Tt 27

(@) <&d
(b) WA
(c) e
(d) #

42. Feiafa # & #9-7 w St FR %1
e 7

(a) a0 B

(b) = @ (37 wrih)
(c) T YA ()
(d) T faate wh

43, Fefofen & 9w @ yf-sm of T
2?

fa) o

(b) =TT ¥y

(c) 3 vifn (e )
(d) S (FR) HR = qfy

44, TN (MGNREGA) 71 Ry fofifes 3§
FR-M 0F T R7

(o) W o i § 100 Rl @ w1 g
A WSH

(b) e SRyl & gem (Fuf)
(c) i fifimm % sgm
(d) wieen wufthenta #) ghfam &
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37. In the region of eastern shore of Adriatic 41, Which one of the following rivers joins
Sea, a cold and dry wind blowing down Ganga directly?
from the mountain is known as

fa) Chambal
(a} Mistral
(b} Son
(b} Bora
fc] Betwa
fc) Bise
{d] Ken
(d) Blizzard
42. Which one of the following is not a type
38. Nyishi tribe is found mainly in of commercial agriculture?

fa} Andaman and Nicobar
(b) Arunachal Pradesh
{c) Nilgiri-Kerala

{d) Kashmir Valley

39. In the field of tourism, which one of the

following Indian States is described as
‘One State Many Worlds'?

(a) Assam
{b) West Bengal
fc} Kamataka

(d) Rajasthan

40. The number of people per unit area of

arable land is termed as
(a) agricultural density
{b) arithmetic density
{c)] physiological density

{d) economic density

PLKI-S-GNL/58A
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fa) Dairy farming
(b} Grain farming
fc) Livestock ranching

(d} Intensive subsistence agriculture

43. Which one of the following is not a land
use category?

fa) Forestland
(b) Pasture land
{c) Marginal land

(d} Barren and wasteland

44. Which one of the following is net an
objective of the MGNREGA?

{a) Providing up to 100 days of skilled
labour in a financial year

{b) Creation of productive assets
{¢) Enhancing livelihood security

(d) Ensuring empowerment to women

[P.T.0.
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45. =Eal H FEywreh % qey o, frafafas 4 @

FH-91 Fu T T2 27

(@) UEEd F, IEE, AT e
Fdl, Tue o yEm (fafam) += a=di
£l

(b) T AfF S 25 T F A T R, T
T i B 994 F Ty 9 2y

(c) Ted% UHEd SO UEel 43 (®w)
fofer @ gmraem g a9l 9% o @
el

(dl T 999 W Emefis faged & 9r
yrifea A sl 2, a7 oof smafy %
Y T 7% T @ FFA 2

46. WNA WER FN 6a@ AWN 0 9am T qe

frefafias 4 9 =9-40 87

fa) FEATA AeAEE AT

(b) TUFEH TR HSF ISl

(c) TR Y TH IS

(d) dFEETE I o Feed A

47. WHe WeW TG &7 fawm @A (MPLADS)

¥ g fafofige 4 @ @¥-31 =91 9d
T 81

(o) T8 TS F T84 HEl 6 GHG HIH WY,
wHifd i gl @ €

(b} WEE % WA HEwm W A &d o
Fraffaa fby w1 F fog #w@t ) agh
F R B

(c) T A1 wRE TR g g fifteg
2

(d) Wit a6 gee affs Twer P 5 708 B

PLKI-S-GNL/S8A

48, TV, W WG WER H @ qeE E,

fr=fofaa & @ fre &= @ wafim 37

(a) &P aRaR (Re)) faegdiam yw w3

(b) T4 TfER F R =R F fou w=
U WEH A

() e Hle e W wERA (W) =
gegaefta

(d) & YUIEE ! U]

49, ‘O AT (FHIR) F 18 Frefafea § @

oo vfvgpe wvEl @ wgm ¥ wnaw ein
qataTn & 14 F] R

(a) @R TR
(b) TEM (Fa) ek WEF (POPs)
(c) TR (IRE)

(d) TEEA AR dgEwm (Shaans)

50. W@ # AiEenell ¥ Ve (W) F

(afea B1) 1 T W@ v frafafaa 3 @
-4 87

fa) U
(b) T
(c) Taam

(d) =R (FH)
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45. Which one of the following statements 48. Saubhagya, a Government of India

with regard to the functioning of the Scheme, relates to which of the
Panchayats is not correct? following areas?
fa) Panchayats may levy, collect and

appropriate taxes, duties, tolls, etc. (@) Achieving universal household
(b) A person who has attained the age electrification

of 25 years will be eligible to be a

member of a Panchayat. {b) Providing clean cooking fuel to

(c) Every Panchayat shall ordinarily poor households

continue for five years from the _ o o
date of its first meeting {c) Rationalizing subsidies on LPG
{d) A Panchayat reconstituted after
premature dissolution shall
continue only for the remainder of

the full period.

(d) Stopping female foeticide

49, The Basel Convention’ is aimed at
protecting  human  health  and
environment against adverse effects of

46. Which one of the following is the earliest
launched scheme of the Government

of India? which of the following?
fa) Deendayal Antyodaya Yojana
{b) Pradhan Mantri Gram Sadak {a) Hazardous wastes
Yojana
fc) Saansad Adarsh Gram Yojana {b) Persistent Organic  Pollutants
(d) Deendayal Upadhyaya Grameen (POPs)

Kaushalya Yojana

. , . {c) Mercury
47. Which of the following statements is not

conFct regarding the Members of (@ Chemicals and pesticides

Parliament Local Area Development

Scheme (MPLADS)?

fa) Members of the Parliament (MPs)
sanction, execute and complete
works under the scheme.

(b) Nominated Members of the
Parliament can recommend works

for implementation anywhere in the

50. Which one of the following is the biggest
cause of incidence of migration of
female persons in India?

(aj Employment

country. (b} Education
f¢} The scheme is fully funded by the
Government of India. {c) Marriage
{d) The annual entitlement per MP is
¥5 crore. (d) Business
PLKI-S-GNL/58A 15 [ P.T.O.
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51. Which one of the following is not correct
about Repo rate?

(a) It is the interest rate charged by the
Central Bank on overnight loan.

(b} It is the interest rate paid by the
commercial banks on overnight
borrowing.

(¢} It is the interest rate agreed upon
in the loan contract between a
commercial bank and the Central
Bank.

{d} It is the cost of collateral security.

52. The Cash Reserve Ratio refers to

fa) the share of Net Demand and Time
Liabilities that banks have to hold
as liquid assets

b} the share of Net Demand and Time
Liabilities that banks have to hold
as balances with the RBI

fc) the share of Net Demand and Time
Liabilities that banks have to hold
as part of their cash reserves

{d) the ratio of cash holding to reserves
of banks

53. In economics, if a diagram has a line
passing through the origin and has
45° angle with either axis and it is
asserted that along the line X = Y, what
is tacitly assumed?

fa) Both variables are pure numbers.
{b) Both variables are in the same unit.

fc) Both variables are in different
units.

(d) At least one variable is a pure
number.

PLKI-S-GNL/58A

54. Who among the following won the Best

Men's Player Award of FIFA Football
Awards, 2019?

fa) Cristiano Ronaldo
{b) Virgil van Dijk
fc} Lionel Messi

(d) Xavi

55. In September 2019, which one of the

following travel giants declared itself
bankrupt?

(a) Expedia

(b) Cox & Kings
() SOTC

{d} Thomas Cook

56. Greta Thunberg, a teenaged environment

activist who was in news recently,
hails from

(a] Sweden
(b} Germany
fcj USA

(d) Canada

57. Recently the Reserve Bank of India

has imposed limitations, initially for
a period of six months, on the
withdrawal of amount by account
holders of which one of the following
banks?

fa) Indusind Bank
(b} Dhanlaxmi Bank

{c) Punjab and Maharashtra
Cooperative Bank

{d} South Indian Bank

[ P.T.O.
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58. Amitabh Bachchan was recently
conferred with the prestigious Dada
Saheb Phalke Award. Who among the
following was the first recipient of
the award?

fa)
(b) Devika Rani
fc) Sohrab Modi
{d) Naushad

59. The famous Mughal painting, depicting
Jahangir embracing the Safavid king

Shah Abbas, was painted by which one
of the following Mughal painters?

fa) Abd al-Samad
(b} Abul Hasan

{c) Dasavant
(d)

60. Which of the following statements about
‘Mughal Mansab’ system are correct?

Prithviraj Kapoor

Bishandas

1. ‘Zat’ rank was an indicator of a
Mansabdar’s position in the
imperial hierarchy and the salary of
the Mansabdar.

2. ‘Sawar’ rank indicated the number
of horsemen the Mansabdar was
required to maintain.

3. In the seventeenth century,
Mansabdars holding 1000 or above
‘SBawar’ rank were designated as
nobles (Umara).

Select the correct answer using the code
given below.

fa} 1 and 2 only
{b) 1 and 3 only
fe) 2 and 3 only
{d 1,2and 3

PLKI-S-GNL/58A
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61. Which one of the following pairs is not
correctly matched?

fa} Kuddapah-kar : Rocky wastelands
{b) Nancai : Wet fields

fc) Puncai : Dry fields

{d) Tottakal : Garden lands

62. Which of the following rulers were
identified through matronymics (names
derived from that of the mother)?

{a) Mallas of Pava
{b} Videhas of Mithila
{c) Yaudheyas

{d) Satavahanas

63. Which one of the following statements
about the famous text of Panchatantra
is correct?

() 1t is a philosophical text reflecting
the debates of the time and refuting
rival positions.

(b} Itis a text ushering in linguistics as
a formal science.

{c} 1t is a text discussing developments
in various spheres of natural
sciences.

(d} It is a text showing through

illustration what should and
should not be done.

[PT.0.
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64. Geomorphic factors influencing plant and
animal distributions are

(a) slope angle and relief only

(b} slope aspect and relative relief

fc) slope angle, slope aspect and relief
{d} slope angle, slope aspect and

relative relief

65. Which one of the following groups of
cities does not have Sclerophyll as
its natural vegetation cover?

{a) Valparaiso and Cape Town
{b) Lisbon and Perth
fc) Los Angeles and Adelaide

{(d) Las Vegas and Queensland

66. Which of the following are warm ocean
currents?

{a) Kuroshio and California Current

(b) North Atlantic Drift and Brazil
Current

fc} Canaries and Benguela Current

(d) West Wind Drift and Falkland
Current

67. In India, how many States/Union
Territories have more than two
international boundaries?

(@ 1
(b) 2
c) 3

(d) 4

PLKI-S-GNL/58A

68. In the Hadley cell thermal circulation, air
rises up and finally descends at

{a) intertropical convergence zone
(b} doldrums
{c) subtropical high-pressure cells
{d) equatorial troughs
69. Which one of the following soils is

characterized by very high content of
organic matter?

{a) Vertisol
(b) Histosol
fc) Gelisol

(d) Spodosol

70. Overseas Indians can exercise franchise
in an election to the Lok Sabha under
which of the following conditions?

1. They must be citizens of India.

2. Their names must figure in the
electoral roll.

3. They must be present in India to
vote.

Select the correct answer using the code
given below.

fal 1,2 and 3
fb) 2 and 3 only
{c) 1 and 2 only

{d} 1 only

[P.T.0.
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71. Which one of the following is net a
feature of the Ayushman Bharat
Scheme?

fa) There is no cap on family size and
age.

{b) The scheme includes pre- and
post-hospitalization expenses.

fc) A defined transport allowance per
hospitalization will also be paid to
the beneficiary.

{d] The scheme provides a benefit
cover of 10 lakh per family.

72. Which of the following are considered
to be the four pilars of human
development?

fa) Equity, inclusion, productivity and
empowerment

{b} Equity, productivity, empowerment
and sustainability

{e) Productivity, gender, inclusion and
equity

{d} Labour, productivity, inclusion and
equity

73. Which one of the following was added
as a fundamental duty through the
Constitution (86th Amendment) Act,
20027

fa) To strive towards excellence in
individual and collective activity

(b) To provide opportunities for
education to one's child between
the age of 6 and 14 years

{c) To work for the welfare of women
and children

{d] To promote peace and harmony

PLKI-S-GNL/S8A

74. Which one of the following Articles of the
Constitution of India protects a person
against double jeopardy?

{a) Article 20
(b) Article 21
{c) Article 22
(d) Article 23

75. Consider the following statements about
Stone Age in India :

1. Different periods are identified
on the basis of the type and
technology of stone tools.

2. There are no regional variations in
the type and technology of tools in
different periods.

3. Stone Age cultures of different
periods evolved uniformly in a neat
unilinear fashion all over the
subcontinent.

Which of the statements given above
is/are correct?

fa) 1 only

(b) 1 and 2 only
c) 3 only

(d} 1,2 and 3

76. From which one of the following factory
sites were limestone and chert blades
mass produced and sent to various
Harappan settlements in Sindh?

fa) Sukkur and Rohri Hills
(b} Khetri in Rajasthan

¢ Chagai Hills

(d) Hills of Baluchistan

[P.T.0.

https://lwww.pygonline.com



77. F0 Ran-s@-geta’ @ e w5,

1757 F1 9u4 wXE &, e g R wh
27

(a) TET ST
(b} HEW GH

() M g
(d) TR A& 1T

78. ¥ 97 Tugd 41 7% 1836 # wrdl vy 9

W s gy ¥ R whe @@ w @
Ahvrer (feamga) ofi?

(a) ©E HiFere
(b) W€ TTEA
(c) IE Hm

(d) TSR T4

79. ‘TEatE @ ) e e g i

(a) =AY g 1839 §
(b) F¥E TR A9 g 1857 A
(¢} A& TR TH T 1850 A
(d) FREHMY R FW 1840 F

80. ¥ 3 o Wo T F #iW TEEh W g

f-da & aaw | @ w 9w o
ur?

(@) foe fawm (emm grems)

(b) el fasm (uferdz grRam)

(c) M Taw (T grRers)

(d) TEa (el ) fam (areR e

PLKI-5-GNL/G8A

81. TR’ el %I T AIfih Ieed 37
fa) Tafem
(b) <@
(c) FEUTEA W
(d) MR

82, 924 ¥Ff wEgd (yEdl) § wdim
g f= fren 6 PP ¥ fog wwg
st wiafd feffas 4 4 SR-d ¥

(a) “gega %A fa’

(b) GR I

fc) el &Y

(d) TR e im g

83. Telad Merht e freds g ey s 37
(a) faet T At em wr3dem
(b) TS T FEARTR T
fc) el WA A6 Rl
(d) % Biearaiiere St

84, ‘Tt e w el o 27
(a) =TT
(b) AR
(c) T
(d) TqEA

85, ffafas & & @R affwm ¥ o wa
ANRE F w9 § @9, 6 sem: b ¥
QO PR T w5 FRw e

(a) |
(b) T
fe) AT (i)

(d) <

24

https.//www.pygonline.com



77. The work Siyar-ul-Mutakherin,

79. The

which

describes the Battle of Plassey, 1757,

was written by
(a)
(b)
(c}
(d}

Salabat Jung
Qasim Khan
Ghulam Husain

Ram Mohan Roy

78. Who believed that the Russian designs

were ‘an imminent peril to the security
and tranquility’ of the Indian Empire

in 18367
(a)
(b}
(c)
{d}

Lord Auckland
Lord Palmerston
Lord Canning

Alexander Burnes

‘Tattvabodhini Sabha’

established by

(a) Devendranath Tagere in 1839
(b) Keshab Chandra Sen in 1857
¢} Akshay Kumar Datta in 1850

(d) Dwarakanath Tagore in 1840

was

80. What was the code name given to the

first ever tri-service military exercise

between India and USA?
()
(b)
fc)
(d)

Lion Triumph
Elephant Triumph
Tiger Triumph

Bison Triumph

PLKI-S-GNL/58A
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81. ‘Naropa’ is an annual festival of

(a)
(b)
fc)
(d)

Sikkim
Ladakh
Arunachal Pradesh

Nagaland

82. Which one of the following is India’s
official entry for the Best International

Feature

Film category in  the

92nd Academy Awards?

(@)
(b)
(c]
(di)

Bulbul Can Sing

Super Deluxe

Gully Boy

And The Oscar Goes To

83. The Global Goalkeeper Award is given by

(a)

(b)

(c)
(d)

the Bill
Foundation

and Melinda Gates

the United Nations Environment
Programme

the Kellogg School of Management

the World Meteorological Organi-
zation

84. ‘Gandhi Solar Park’ is located at

(@)
(b
(c)
(d)

85. Who

to arrive

New York
Vladivostok
Thimphu
Houston

among the following was the first
in Africa as traders that

eventually led to European colonization
of Africa?

(a)
(b}
fc)
(d)

French
Spanish
Portuguese
Dutch

[P.T.0.
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86. The College of Military Engineering

affiliated to  Jawaharlal
University is situated at

Nehru

{a) New Delhi
{b} Dehradun
{¢c) Nainital

(d) Pune

87. Which of the following statements with

regard to Coal India Limited {CIL) is/are
true?

1. CIL has its
Kolkata.

headquarters at

2. CIL operates through 82 mining
areas spread over twenty provincial
States of India.

3. CIL is the single largest coal-
producing company in the world.

Select the correct answer using the code
given below.

fa) 1 only
(b} 1 and 3 only

fc) 2 and 3 only

(d 1,2 and 3

88. Which one of the following climatic types

is found in Central Spain?

(aj Subarctic

{b) Mediterranean dry hot summer
fc) Subtropical Steppe

{d) Humid continental warm summer

PLKI-S-GNL/58A
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89. Which one of the following is not among

the principal languages of Jammu and
Kashmir?

{a) Urdu
(b} Gujari
{c} Koshur
{d) Monpa

90. The major part of Central Asia is

dominated by which one of the following
language families?

(a) Indo-European
(b) Sino-Tibetan
{c) Austric

(d) Altaic

91, Which one of the following Articles was

defended by Dr. B. R. Ambedkar on the
plea that it would be used as ‘a matter
of last resort'?

{a) Article 352
{b) Article 359
{c}) Article 356
(d) Article 368

92, What is the ground on which the

Supreme Court can refuse relief under
Article 327

{a) The aggrieved person can get
remedy from another court

(b} That disputed facts have to be
investigated

fc) That no fundamental right has
been infringed

{d) That the petitioner has not asked
for the proper writ applicable to
his/her case

(P.T.0.
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93. The Ministry of Heavy Industries and 97. Who among the following is the

Public Enterprises consists of Chairman of the Economic Advisory
{a) the Department of Heavy Industry Council to the Prime Minister
and the Department for Promotion (EAC-PM)?

of Industry and Internal Trade

{a) Ratan P, Watal
(b) the Department of Public

Enterprises and the Department (b) Bibek Debroy

for Promotion of Industry and _

Internal Trade () Ashima Goyal
(c) the Department of Scientific and (d) Sajjid Chinoy

Industrial Research and the

Department of Heavy Industry

98. Hilsa is the national fish of
(d) the Department of Heavy Industry

and the Department of Public fa) Pakistan
Enterprises
(b) India
94. The First Delimitation Commission in
India was constituted in (c) Bangladesh
(@) 1949 (d} Nepal
(b) 1050
(c) 1951

99. The Vijaynagar Advanced Landing
(d) 1952 Ground of the Indian Air Force, which

was reopened recently, is located in
95. Who among the following stated in P Y

the Constituent Assembly that on (a) Jammu and Kashmir
26th January, 1950, India was going to

enter a life of contradictions? (b) Arunachal Pradesh
fa) Dr. B. R. Ambedkar (c) Kamnataka

{b) Jawaharlal Nehru

{c) Mahatma Gandhi (@) Himachal Pradesh

(d} S. P. Mukherjee
100. Rustom-2, which crashed in Karnataka

96. The power of the Supreme Court to recently, was a/an

decide in the case of a dispute between

two or more States is called {a) fighter aircraft
{a) original jurisdiction {b) helicopter
{b) inherent jurisdiction

{c) plenary jurisdiction fe) transport aircraft

{d} advisory jurisdiction . {d) unmanned aerial vehicle
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101, YW (Fa1) fogy Afw e, oo e, 105. ¥R FAITA (1882), o s # foen ) ffa

fommgy afr wrdets wifver 9, =+l gen a? ® wagm F F fog fFuifm fFnomn o,
fa) U =T ¥
(b) < (q) Rglmer (qRaRi) fim = fly
T
fc) TR
@ wrh (b) 1854 H fagf (Jww) =1 &
(c) waufts e m fts oo (Wew) 2 7T
102. WRA ¥ wdig Ararey ) @ (3wf) w1 geeda 1854 # fagfe 1 el e
frafafign & ¥ frw aftfiam/smm g fen
™I U7 (d) Then & gEE@ SIEW YomEl i AT
Ed

(a) W@ FER AfFRH, 1919
(b) @ (ch FE), 1923
(c) T T R, 1935 106. TIE F A 4 Faftm W el R wE

9 i wiiw fewss qra e B
(d) T Tiwg AfTEm, 1909
{a) AT F wH
103. ‘T whfe’ & W wEEe § 1914 # .
R 17 (b) T AT
(a) T FE (c) Ty Fafe smm
(b) o Fo Mac (@) v et s
{c) HRm aeRE
dj e o
“ i 107. ¥4 & ®fym #i 119 AR s e
ol = fnfom e 87
104. & (2M4m) F1 ¥SUER T4 STiveiE ¥9 9
W w # frm o it gen? () "9 3R T faurea
() 1948 (b} T faumvEs s dEa
(b) 1950
() TR frm 3R T=rE
{c) 1949
(d) 1947 (d) ™ @7 iR T=rEE
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101. The maiden trilateral naval exercise
involving India, Singapore and Thailand
was held at

fa} Port Blair
{b) Chennai
fe) Panaji

(d) Kochi

102. The creation of a Federal Court in India
was advocated by which of the following
Acts/Commissions?

{a) The Government of India Act, 1919
{b) The Lee Commission, 1923
{¢) The Government of India Act, 1935

(d) The Indian Councils Act, 1909

103. Who founded the ‘Seva Samiti’ at
Allahabad in 19147

fa) Hridayanath Kunzru
{b) G. K. Gokhale
{c) Shri Ram Bajpai

(d) T. B. Sapru

104. The State of Hyderabad in the Deccan
officially acceded to the Indian Union
in the year

@) 1948
(b) 1950
(¢} 1949

[d} 1947

PLKI-S-GNL/S8A

105. The Hunter Commission (1882)
appointed to survey the state of
education in India
fa) deprecated University education
{b) overruled the Despatch of 1854
{c) endorsed the Despatch of 1854
with greater emphasis on primary
education

{d) criticized the grants-in-aid system
of schooling

106. The power to legislate on all matters
relating to elections to Panchayats lies
with
{a) the Parliament of India
(b} the State Legislatures

(c) the State Election Commission

{d) the Election Commission of India

107. The 11th Schedule of the Constitution of
India distributes powers between

(A the Union and the State
Legislatures

{b) the State Legislatures and the
Panchayat

{¢) the Municipal Corporation and the
Panchayat

{d) the Gram Sabha and the Panchayat

[P.T.0.
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108. YNIEd & WEUOT ¥ HEY § 9G¥ 9RYE ¥
ey, Frefefea & @ fve & 7w w @

¥ g &7
(a) RETER (b) Fgn
{c) @m (d) T

109, f=fafas & ¥ F9-dt 7 w0 g 4 =

forerdht 27
(a) drem (b) A
(c) e (d) 3R

110. YW & el (RvAe St THEHI/NWA)
el fta 87

(a) T
(b) T
(c) W@

(d) GERAHE

111. ¥@8 T F1e 4 RN FA §C 30 & T
(@) = 7@ wgen Pofafe § 2 ¥9-w
#?

(o) T smm, e, PRn swm,
et s

(p) Trafen smam, T s, fm amam,
e srm

() J 3w, Pafer s, fm s,
fdm amm

(d) T smEm, fm wwEm, de swm,
fratea amim

PLKI-S-GNL/58A

112, #fgF w991 AfFER (IPRs) & w=u 7 Hfa

frego (efteon) foman Tl 27

(a) TafY @ 3@ 5=

(b) Tagm 3R drepfir fawm

fe) Fam A wafE AR gadq fasm

(d) WHE T fawm wEers

113, @l a1 Wl ¥ 3 (AYUSH) &qg o

T @ W (Fd) fafafaa 4 @ e S
e Y

(@) T
b R
fc) Era-foan
(d)

114. ¥JF TG T FRFR (RS W

TERANE Wmw) ¥ for wrg # Frefafea 3
T R ¥z Al (e i) 39w
7

(a) TATEW, F9 @ FoEH UiEds T
(b) Tagm v Y oo

| fc) 9= famm e

(d) TR TR

115. 2011 € SHOAT & HFER, wRA § T =,

o8 wameht (ariafes) Amm 1 v @ Aufy S
T TF T P A 3 el fm wm W
w8 e E, Y yferaan (T fRe 87

fa) 25% (b} 35%

{c) 45% (d) 55%
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109. Which

108. The provisions of the Constitution of

India pertaining to the institution of
Panchayat do not apply to which one
of the following States?

fa) Meghalaya (b) Tripura
(c) Assam [d) Goa
one of the following rivers

does not drain into Black Sea?

(b)
{d} Danube

fa) Volga Dnieper

{c) Don

110. The National Water Academy (NWA) is

located at https://www.pyqonline.com
(@)
(b)
(c)
(d)

Dehradun
Hyderabad
Bhopal

Khadakwasla

111. Which one of the following is the correct

of formation of the

Commissions starting from the earliest?

(a)

sequence

Finance Commission, Planning
Commission, Investment Commis-

sion, Election Commission

(b) Election Commission, Planning
Commission, Finance Commission,
Investment Commission

fc) Planning Commission, Election

Commission, Finance Commission,
Investment Commission

(d) Investment Commission, Finance
Planning Commis-
sion, Election Commission

Commission,

PLKI-3-GNL/S8A
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112,

The formulation of policy in respect to

Intellectual Property Rights (IPRs) is the
responsibility of

(a)
(b)

the Ministry of Law and Justice

the Department of Science and
Technology

(c)

the Department for Promotion of
Industry and Internal Trade

(d)

the Ministry of Human Resource
Development

113. Which one of the following is the latest

addition to the AYUSH group of
health care system?

(@)
()
(c)
(d)

Unani
Siddha
Sowa-Rigpa
Reiki

114. Which one of the following is the nodal

agency in India for the United Nations
Environment Programme?

fa) The Ministry of Environment,
Forest and Climate Change

The Ministry of Science
Technology

and

(b)

(c)
(d)

The Ministry of Earth Sciences
The Ministry of Home Affairs

115. According to the Census 2011, in India,

what is the percentage of people
(approximately) considered to be
migrants (internal), i.e., now settled in
a place different from their previous
residence?

{a) 25%
fc) 45%

(b) 35%
(d} 55%

[P.T.O.
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116. uH T & % FW mory o g § €400 118. fag vl Raw (2 g 2), 2019 =

yiofes ot 1 3 S & T v s war, fififed 3§ @S- 2w @t
(wefifirer) & w9 § F w0 w7 w8 frem R,

W&l W RfA #700 F = A yrEw B (a) Fo Tho To

M| 58 HiY T9g F &9 7 & 718 7@ @

S A ¥ F e A Ew qe (e (b) WA

arme) frafafies & @ FR-d 87

(@ ¥1,100 (b) ®700 (c] &4

(c) ®400 (d) ®300 pg—

117, g1 R G-I & T gftm vy s

g % R Ry m g 71 @ w®oad sw
g ; 119. fysw wdea (BRICS df¥R), 2020 F dwarh
fored grr 6t st
. ahn e
(e H=T) (Rrdremm) (@) W@
A g 1. o i (ag) ek dae
TF IEH T PR (b) ¥H
B. THIfUER 2, TEH-H I YW g
(i) sl B R 39 st fe) w4
T R (d) ¥
C. wiftFa 3. fadfea 3aet ) fh =gm- /
IR CHUG) ¥ I g R S
D. IemitFR 4. -3 Il o fof wga-
(snfemateh) § et T e ST 120. M@ ¥R I T @ § GER TE RE
_ TR R G FFE TR niea (i) e
T2 | %1 75 YT Fom @ & dvem 3 forg 87
(a) A B C D
4 3 1 2 (@) W@ I Tl 3 rEvEa
) A B C D
¢ 18 2 (b) T ¥ wEHh
@) A B C D
2 1 3 4 (c) G FE
@@ A B C D
2 3 1 4 (d) S
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116. Suppose an agricultural labourer earns
¥ 400 per day in her village. She gets a
job to work as babysitter in a nearby
town @ ¥700 per day. She chose to
work as agricultural labourer. Which
one of the following is the opportunity
cost of the agricultural labourer?

@ 1,100 (b) ¥700

(c) ¥400 (d} ¥300
117. Match List-I with List-I[ and select the

correct answer using the code given
below the Lists :

List-1 List-I
{(Market (Characteristic)
structure)

A. Perfect 1. Only one producer

competition selling one commodity

B. Monopoly 2. Few producers selling
similar or almost similar
products

C. Monopolistic 3. Many producers selling
competition differentiated products

D. Oligopoly 4, Many producers selling
similar products

Code :

@ A B C D

) A B C D

I
=
Cad
b2

0 A B C D

%)
—_
[
&

@ A B C D

PLKI-S-GNL/58A

118. Which one of the following was the host
country for World Tourism Day, 2019?

fa) USA

(b) India

{c} Russia

{d) Canada

119. BRICS Summit, 2020 will be hosted by

fa} India

(b} China

{c) Russia

{d} Brazil

120. The Government of India has recently

constituted a civilian award in the

name of Sardar Vallabhbhai Patel in
the field of contribution to

a) unity and integrity of India

(b) art and culture

{¢) social work

(d) entrepreneurship

[P.T.0.

https://www.pygonline.com



DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : PLKI-S-GNL Test Booklet Series

Serial No.

TEST BOOKLET
GENERAL KNOWLEDGE

Time Allowed : Two Hours Maximum Marks : 100

1‘

5‘

N

9#
10.

. You have to enter your Roll Number on the Test Booklet in

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOQKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(1) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

2T 2 R w e wun T i ® qeyE e 2

40

https://www.pygonline.com



